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INVERSE FUNCTIONS

Find the inverse function of f(x) = 7x - 3.

(a) Find the inverse function of y = ¢

(b) State the domain and range of the inverse function.
Consider the function f{(x) = x” - 4x.

(a) Sketch the parabola, showing the intercepts with the axes and the coordinates

of its vertex.
(b) What is the largest domain including the value x = 5 for which the function has
an inverse function f ™ (x)?
(c) Find the inverse function over this domain, and state its domain and range. -
(d) Sketch the graph of y = £ (x) on the same set of axes as your graph in
part (a).
(e) State a domain over which the function does not have an inverse. Give a brief
reason.
Consider the function y =
(a) Find the inverse function £ (x).
(b) Evaluate £ (/(2)).
(c) Show that £ (f(a)) = a for any x = a.
(d) Hence show that ™' (f(a)) = f(f (a)) for all real a.

e +2

The function f(x) is given by f{x) =

(a) Show that f{x) has no stationary points.
(b) Sketch the curve y = f{x).

(c) Find the inverse function £ (x).

Find cos™ (1).

Find the exact value of sin™ (-1).

Evaluate tan™ ( V3 ).

Evaluate cos™ (- % ).

Evaluate sin™ (- —\/2—5 ).
Find the exact value of sin (cos™ J—))

Find the exact value of sin (cos™ (;))

Evaluate tan™ (cos 0)
Sketch the curve y =5 tan™ 3x.
State the domain and range of y = x sin” x.

1 1
Show that sin™ (=—) = - sin™ (—
( 2) ( 2)

) 4 4
Show that sm‘](—) + cos‘l(—) _r
5 5 2
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Differentiate 2 sin™ x
Differentiate tan™ (3x)
Find the derivative of (cos™ x - 2)

cos T x

Differentiate e
Find the first and second derivatives of tan™ x.
Find the gradient of the tangent to the curve y =3 cos™ x at the point where
=1

2 :
Find the gradient of the normal to the curve y = sin” x when x = 0,

. : . . 1
Find the equation of the tangent to the curve y = 2 tan ! 2x at the point (E—g—j :

(a) Find the domain and range of the function y = sin” 2x.
(b) Sketch the graph of y = sin™ 2x.

. . .. . (1
(c) Find the equation of the tangent to the curve y = sin ' 2x at the point (Z,%j .
(a) Find f(0), given f(x) = 3 cos™ (g)

(b) Sketch the function f(x) = 3 cos™ (%)

(c) State the domain and range of the function.
(d) Find the gradient of the function when x = 0.
For the function f{x) = sin™ x + cos™ x,

(a) find f’(x)

(b) sketch the graph of y = f{x).

Evaluate IO E
1—-x

Find I

dx
Vl - 4x2

5+ 41

Find I

(a) Sketch the curve y = showing any stationary points.

x“+1

(b) Find the area bounded by the curve y = , the x-axis and the lines x = 1

and x = \/5

X+
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